Federal Board HSSC-I (2016)
STATISTICS HSSC-1
SECTION-A (Marks 17)
Time allowed: 25 Minutes
NOTE: - Section-A is compulsory. All parts of this
Section are to be answered on the question paper isel.
It should be completed in the first 25 minutes and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead
penci
Q1. Circle the correct option i.e. A/B/C/D.
Each part carries one marl
(i) A specific characteristic of a
pupmanon is called:
Statistic B Parameter
Varable D Sample
(i) Lls!lng of the data in order of
Numerical Magnitude is called:

A Raw data
B Arrayed data
c Discrete data

D Contnuous data
(i) The word ogive is also used for:
Frequency polygol

B Comia Vrequuvcy polygon
C Frequency curve
Histogram

(iv) A variable that assumes any value
within a range is called:

A Discrete vanable
B ' Continuous variable
C Independent varniabie
8] Dependent variable

(v)  The average of lower and upper class
limits is called:

A Class boundary
8 Class frequency
C  Ciass mark
D Class imit
(vi) A pie diagram is represented by a:
A~ Rectangle B Triangle
Circle D Square

(vii) Step deviation method or coding
method is used for computation of the:
A Geometnic mean
B Harmoric mean
c Arthmetic mean
0 Weighted mean
(viii) A curve that tails off to the right end is
lle

by Symmema
B Negatvely skewed
C  Positively skewea
D BothAand8

(ix) The sample mean X isa:
A Paameter B Constant
C  Varable D Statsic

(x) The, variance is zero only if all
observations are:
A Different B Square
C  Squareroot D Same

(xi) The range of the values -5,-8-
10,0,6,10 is:
A0 B8 10

1 20
(xii) Bowley's coefficient of Skewness lies
etween:
Oand 1 B 2 and +2
c 1and 0 o} Tand +1

(xiii) Index for base period is always taken
as:
A 100 8 One
c 200 D

(xiv) Price relative computed by chain Base
method is called:

A Link relative B Chain indices

[ Price relatives D None of these
(xv) Base year quantities as weights are

used in:

A Laspeyre's method

B Paasche's method

c Fisher's ideal method

o] None of these

(xvi) In simple regression equation, the
number of variables involved is:
2 B 1

A
[ D
(xvii) Depresslon in business is:
Cyclical B Seculartrend
c Seasonal D Irregular

SECTION - B (Marks 42)

Q.2 Attempt any FOURTEEN parts. All parts

carry equal marks. (14x3  42)
(i)  Offerentiate between parameter and
statstic

(i) Name the branches of statistics

(iil)  Differentiate between grouped data and
ungrouped data

(iv)  The mean of 5 observations s 60 Another
dem s included n the observations and now
the mean becomes 62 Find the included
item

(v)  X(x10) = 28 and n = 5. Find the sample
mean

(vi) What 1s meant by measures of central
tendency?

(vii) Find brased sample standard devia‘ion of
the scores 30.35.40

(viii) 1t var(x) - 25 than find Var(2x + 4)

(ix) The first two moments of a distubution
about the value 5 of a vanable are 2 and 32
Find vanance

(x)  Define the standard deviation

(xi)  YP.q, 1500 and )YP.q, - 2040 Find
base year weighted index

(xii)) What are the important uses of ndex
numbers?

(xiii) If v =50 y = 110 and a = 10 Find the
value of b

(xiv) b, =16and b =04 Find the value of

i

(xv) Wnte down tne properties of the corrclation
coefficient

(xvi) Y¥x -0 Yy=41172and n = 10 Find the
value of x ntercept a

(xvii) ¥x = 0. Yy =245 yx!=28 yxy 66
andn =7 Fitahnear trend

(xviii) What are the different components of a time
senes?

(xix) Differentiate between signal and noise
SECTION - C (Marks 26)
Note: Attempt any TWO questions. All questions
canry equal marks. (2<13=26)
Q. 3 a.The following table shows the distibution of
the maximum loads 1n short'tons supported
by certain cables produced by a company

(08)
Maximum | No. of ‘ Maximum ‘ No. of
Load Cables Load | Cables
9397 2 [ 137 e
9.8-102 5 | 18122 6
10.3-10.7 12 123427 | 3 i
108112 | 17 128432 1
Determine Mean Median and Mode
b. Compute the Mean deviation from median
and its coefficient from the following data

(05)
Daily [200. 250 250 - 300] 360 :in[asu 4007400 450

(Rs)

persons

Q.4 Fing chain indices from the following price.
relatve of the three commodities using

Geometric mean as Average (13)
“Year | Commodities.
i p
A
1999 ] 255 J
2000 | 186 |
2001 | 312
2002 | 279 "
2003 | 180 ¢
Q. 5a.Show 1 arrors and Sum of
squares of errors are zero for the following
data (©7)
[x]1] 273 las]
[¥lof1[2T3] \
b. Compute 4 year centered moving average
for the following time series (06)

Year !wsswwlhsgs 1995/1997 19941599 2000
o
\
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